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Find the difference between A and B.

A

|
SN B S S S B R Ea B e

20,000 26,000
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32,500 42,500
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Here is 2 bar model.

A B
631,255

A is an odd number which rounds to 100,000 to the
nearest ten thousand. It has a digit total of 30

B is an even humber which rounds to 500,000 to the
nearest hundred thousand.

It has a digit total of |10
A and B are multiples of 5

What are possible values of A and B!
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True or False?

e 5463 X |18 = |18 x 5,463

* | can find the answer to |,100 X 28 by calculating
1,100 X 30 and subtracting 2 lots of I,100

e 702 x9 =701 X 10
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2/3 45 7](8]

Place the digits in the boxes to make the largest
product.
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Find the missing digits.
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Here are two calculations.

r

G

A=3% - |

J

r

.

B=2832+13

\

J

Find the difference between A and B.

.
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Work out the value of C.
(The bar models are not drawn to scale)

4 4,950 »
A A A

< A >
B B B

< B >
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Calculate:

* ,248 +- 48
* 1,248 - 24
¢ 1,248 =~ 12

What did you do each time!?
What was your strategy!?

What do you notice! Why?
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Tommy says,

To calculate 4,320 - |5
| will first divide 4,320
by 5 then divide the
answer by |0

Do you agree!
Explain why.
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Class 6 are calculating 7,848 - 24

The children decide which factor pairs to use. Here
are some of their suggestions:

2 and |2 | and 24
4 and 6 |0 and |4

Which will not give them the correct answer? Why?

Use the correct factor pairs to calculate the answer.
Is the answer the same each time?

Which factor pair would be the least efficient to use!?
Why?
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Odd One Out

Which is the odd one out!?
Explain your answer.

512 = 16
672 — 21

792 — 24
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Spot the Mistake

855 =~ |5 =

|
~
© o|lun »nn|wuL
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Which calculation is harder?

1,950 = 13

1,950 = |5

Explain why.
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6,120 ~ 17 = 360 %

Explain how to use this fact to find *

6,480 - * = 360
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Here are two calculation cards.

A =39 = ||

B=832 -+ |1

Whitney thinks there won’t be a remainder for either

calculation because 396 and 832 are both multiples of
|l

Rosie disagrees, she has done the written calculations
and says one of them has a remainder.

Who is correct! Explain your answer.
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576 children and 32 adults need transport for a school
trip. A coach holds 55 people.

We need |0 coaches.

o

QQ
.

Dora
Af 4 We need | | coaches ]
7es) '
Eva
s 4 We need |2 coaches. J
Alex

Who is correct? Explain how you know.

How many spare seats will there be?
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Class 6 are calculating three thousand, six hundred
and thirty-three divided by twelve.

Rosie says that she knows there will be a remainder
without calculating.

Is she correct!?
Explain your answer.

What is the remainder?
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